N of reco track vs dxy

tracks

Ratio

10°

10*

10°

10?

10

1y
el

track dxy (cm)

0

10

0

track dz (cm)

BT ST Tt eHasa
em ateCut(‘PhrSuargNews
|2

[\ of associated (recoToSim) tracks vs dxy

true tracks

fake tracks
=
o
2

N of associated (recoToSim) looper tracks vs dxy

duplicate tracks

%5015 -1

track dxy (cm)

[N of associated (recoToSim) tracks vs dz_]

true tracks

Ratio

- it - UT:
-10 0 10 20 30
track dz (cm)

0.9
0.8 Feees SRR
-20 -15-10 -5 0 5 0 O'—'ZO -15-10 -5 0 5 10 15 20
track dxy (cm) track dxy (cm)
| N of associated (recoToSim) looper tracks vs dz |
2] 0
_\é x
g g
= 10 =
< 8
: g
3
10° 3 10
10?
i 10
T 1 T .
x g x :
-30 -20 -10 O 10 20 30 80 =20 -10 0 10 20 30

track dz (cm)

29

track dz (cm)



	Contents
	Page 1


